B - 2024/10/13 ) £ Buhs
B2k 2024+ A TR A i - i AR e
ks 24 + BT IR R LR EE HoC
TR 4 + BT IR R e Rt 4 + B BT LB A
A £ &A LAz 245z 3L 4L 5{iL 6/iL 4L 8L
JEE A8 | 100m A EA 12.94 (+1.9)[EL  Bkés 13.72 (+1.9) @85 &Rt 14.26 (+1.9)| 2% BH wl4.35 (+2.3) (28 HE wl14.40 (+2.3)[EF &5 ] 14.46 (+1.9)[=E £iE 14.57 (+1.9)|iLA =XEA 14.61 (+1.9)
) + HETAC +HHATAC RS FL FSFL FSFL SRAR—YTIT47 + HHETAC S&L AC
W0A13H | 1500m LGS 5:11.94[BF %ﬂﬂ% o 5:14.69| &+ %fgs& o 5:43.05 /J:%?m wt 5:46.10| 2 1@3% - 5:50.93[ % %ua,tu - 5:52. 17|t t& 5:52.98| LA = 5:54.17
+ HETAC BRAR=YTIT47 BRAE—YT I 747 FSFIL SRRE—YTIT47 BRAR=YTOT47 + HETAC BEI
w0r1sn | e [T0 B 130
0B 130 | s BH K 3.75 (+0.4)|@+  fEse \ 373 (+0.2)|=iE = \ 3.32 (+0.6) [+ R ) 3.15 (+0.6)|#k& 34 ] 2.80 (+0.6)|Fk& HE4E ] 2.21 (-0.1)
+HEJAC BRAR=YT I T47 FRAR—=YT I T47 IRAR=YT I T47 SRAKR=YT I T47 BRAR=YT I T47
AmE EF w11.26 (+3.8)|%# BEKER wll.37 (+38)|F& 1B wi11.39 (+3.8)[5/% TK wi1l.42 (+3.8)[/ L & 1158 (+1.3)[f@R  res wl11.59 (+3.8)[&H 7 11.68 (+0.9)[EE E%R w11.72 (+3.8)
SR T wg138 | 100m NFR-NFBP +HAT-F&H b NN =L FEAE-/NHEF + HET 2EPE + B BAA-ERE
g HE 2 11.72 (+2.0)
MEE- AT
wAE | 200m £ BEAER w23.18 (+2.5)|FaE &H w23.45 (+2.5)|EEO BN w23.62 (+2.5)|RE 1B w23.72 (+2.5)[BR #E w24.06 (+2.5)|3RFH BT w24.09 (+3.2)| B &3] w24.10 (+25) |50 A% 2420 (+1.4)
+HE-FEF NFBH-NFAF +HE-+BEH b AN =L ERERE Em=Li AR RRT + HH7
W0A13E | 400m AR BN 52.85(#il i 53.26| %R A 54.17(17#E &5 56.73|FIE8  H—ER 56.97|M3A fi 56.99| M &K 58.40|K%  ZHL 58.53
) RizeAC +HET b RraN =Lk - ERERE(R) +HE-+BATR MARE-/\ET maE- /BT BB/ R
W0A13H | 800m EH OB 1:58.97|#%0 ‘@2 2:08.58[/\#k B2 2:09.07[K8 = 2:14.76[/\h  FBA 2:19.58[#2 Fir 2:21.26| =15 B 2:21.68[FE &KX 2:22.02
+ B - +HHE-hEP +HE-+HEF BB/ F [N L - EEPE(R) + HET- R - EEPE(R)
105138 | 1500m =22 X 42011|E% BF 4:24.46|FE8 4:24.60| bk BZA 4:28.93|BIE  H—EA 4:31.06| KA AKX 4:33.07|BHF Bt 4:33.59| KA E5E 4:35.40
kAN =Lk +HE7-)IFH mMAERRT +HE-+BEH +HET-+BATH +HA7-)IFH mMAE - RRT +HE-TEF
105138 | 3000m EEAN-< 9:38.16|8:2 &C 9:39.10[@E & 9:42.11|FER 7' 9:44.37|BH Bt 9:50.26[ 1L K 9:53.38|EH R4 9:55.62| RAJII BIK 9:57.95
i ) +HET-)IIFER B RANELS BRI ERT mRE-ERF mAE- RSP +BHETIFES +HAT-FEH + AT )IIFEFR
W0A13H | tiomm B RR w1443 (+2.2)|&FTF S w15.15 (+2.2) RF B w15.62 (+2.2)[8RIx ﬁﬂ\ w16.56 (+2.2)[hE0 TR w16.66 (+2.3) ] 17.90 (+1.7) IR it wi1s.0l (+2.2)[E2 = w18.28 (+2.2)
AR NBEF A SRR M- ABEH + HET- MR - EEPE(h) MAB-NBEF AR RRF NFENTFEFH
ERCL 45.68|Fa A - /N HETHA A5 TT[/NFBR-NFRFRA 46.35| R - 2EHRE(H)A 46.85|+HE-+HETH 3 FE 46.96|FFUE - IR PA 47.60(+BH -5 FB 48.05(F A - /\EFA 48.57
BRI B RFE 2 B2 X AR AE K& HEA M 24t WHE KX Pk &R
104130 | 4x100mR |&HE & RE 1B EH B O REE BRIt INBIR FHE LE FIEA Hif B
il R AH EH NE B BH EH 22 RE FiE BX EH AR EH BU)
B KK YN s & A BE—HB HO sz LT /AN A 2 2 2%
ISP S 1.84|)I& BB4E 1.84|KHe  41R% 1754 &4t L70| 2% EZ 1.50 52 BA 1.45
WAE | ek BB ke +EHH +HBE BAE-ERF [h AN L BRA- AM$
‘ MHE A 1.50 HH oAUt 1.45
mRE- AT mM&E- /BT
WA1SH | Kok Al RE 370(=8 RE 3.40|E2E —HE 3.20|pER Ak 3.10[4% A 2.90| R EE 2.50| B8 B 2.40
) i + HHEr +HA-+HEH + B - ERERE(FR) +HE-+BATH +HA-F&H +HE-+BEH
WH13E | O R 6.23 (+0.9)[)I:& B&E 6.04 (+0.8)[4E A 5.99 (+1.4) EEER 5.82 (+1.5)[EE EZ 5.73 (+0.8)|=# =& 5.50 (+1.7) |77k B 5.49 (+1.2)| =B ;f/\ 5.48 (+0.5)
- EREPE(R) =L +HEr-+BEH EAE-ERF +HHE +HAT-+AEH - FRPE(R) + B BT B
WA 13H | maa ME AR 11.38[/hEl Al 10.30[F% 9.64[Z=R 9.27[ 1\ HEAEB 7.58|8E LA T54|/NBPER M 7.35|BB & 7.30
A RRE +HE-FE&F +HE B +HET-FET R EEPE(R) m&B-NBETH + HET- MR bt Ak
me— B | 10138 | 110mH EEET’MK 15.66 (+1.4) E*E%EHT%K 16.39 (+1.4)
I 9.58| R HHE 9.08
1013 | fatuf +a Tam
LT W0A13H | 100m ESESZ wi13.24 (+2.2)|fRER TE w13.68 (+2.2)|KF %% wi13.90 (+2.2)[liE #EE w13.98 (+2.2)[# L #kE wl4.43 (+2.2)[#HE B4 E w15.03 (+2.2)[EH #A w1b.06 (+2.2)[BEH == 15.62 (+0.7)
BRAR=YTIT47 BRAR=YT o547 FSFIL FoFIL + HHETAC BRAE—YTIT47 S&L AC BRAE—YTIT47
108138 | 800m HEE BHAE 2:38.38|EAN HX 2:50.71[\LE R 2:54.07)3%E& T 2:56.29| 515 B 2:59.45[80 HE 3:00.57|B8 ETF 3:02.36| 54 BE 3:03.49
BRAR=YTIT47 S&L AC TZIXC TZIXC TZIXC TFZIXC BRAR=YTIT47 TZIXC
. e | FREE 1.25|8EE T% 1.20
ORISR | AERBE |4 2prac BRAE—YTIF4T
. R P 4.09 (+0.5)[#&a HM 3.49 (+0.3)[F2 #eEm¥ 3.18 (+0.3)
VORTST | EWEE oS5 BRAFE—YT 5547 +BETAC
ket 108138 | 100m B &It 1267 (+LD[L 22 1278 (+L.D[ER HE 13.01 (+1.D|EE MK B GL)[E+HE & 1331 +LD[AE 3 1338 (+0.9)[Ea ¥ LT ~A L Fis 1349 (+1)|HL #H 13.54 (+1.1)
B + HHT £ /hHF +HA7 + HEy BB/ MAB-RRF NFHNTFHFR - EREPE(FR)
W0A13A | 200m &#B &7t w26.41 (+2.1) AFE B w27.21 (+2. )[R BE w27.27 (+2.1)[E ) ES 28.14 (+0.8) FER BT w2830 (+2.)[E4 ¥ LT ~A L Ein w28.70 (+2.1)|ARE @BE 28.73 (+1.4)[/I#k B w29.02 (+2.1)
+ HHEr &8 /\HER +HA7 MAa-5R+E EARE-ERT NFRNFAF +HE-FER - EREPE(FR)
W0A13H | 400m BE BE 1:0L.69[%1L ZZ 1:.02.21|fE R &S 1:03.09[#0 ®&H L07.19[RA <55 1:09.07[h R #EK 1:09.85
+ HET 8-/ +HET BT + HET mAEB- /BT
10A138 | 800m Bis Ak 2:26.42| =15 = 2:31.10|B48 A 2:33.37|#i% Nz 2:37.02| @& #X 2:37.25E & 2:37.84|FE BE 2:39.97[\LE &Y 2:40.76
+HAET-+BATH P EEPE) PR EREPE(R) MAE - ERT +HE - FO00VEFE +EE-+HEG +HE- &R +HE7)IAER
W0A13HE | 1500m RE FERE 5:02.55| B8 ﬁu& 5:11.61| =15 ;2{ 5:11.71|#A £z 5:14.75[KHE FIF 5:15.02 /s\ﬁ/‘i\ fEE 5:16.38 ESD\ =R 5:18.16| &2 EE?E 5:21.10
+HE-FEF PR EEPE(R) R EREPE(R) +HE-+BETR +HE-+BATHR BMAZ-NBEH b RaN =Lk + HE7- KR
W0A138 | 3000m LB W= 12:07.09|EH X 12:07.46|F & =B 12:12.16|5# Ek 13:01.41|@E =B 15:07.97
+ HET- IR 2T BMEE- /BT mEE /BT +HE-FEH
w0A130 | 100mH AR BHH Y w16.01 (+26)[ PR & w16.35 (+2.6)|[E& ZFW w16.95 (+2.6) A= w17.69 (+2.6)[;eE L w17.86 (+2.6)|# 1L =7 w18.44 (+2.6)[ AN wis75 (+26)| K& #=E 18.91 (+1.4)
mRE-/\ET BB /\ER +HET-EH MAE- AT +HEr-+BAETH + BHE7-AGRH NFENTFHFR - EEPE(FR)
+ BT 48.86( %8 - /INHARA 52.50|m B - /UETA 54.20[ N F& - NFAH 54.71|FE 8 - R A 54.76(+HET-+HETH 2 F£4 55.16|+ HET-EHA 55.39|F B - /\ETB 55.83
BR BE HO BE bizk NI YN At # #E PA HE E 'R X i S|
107130 | 4x100mR [FH &TE EtE &P R fER EAYLT AL Bl LA nE el B HiR BT P H=
Bis  BHIK HO &R EHH YR = vk WE S W FL L m B FEES
thokE kil 223 ME EX il 2 FER BETF Wil BE il #H2 = EA
WA 13H | ek B 1.57|4R #5148 LA5[3E Xk 1.35[3R HAY 1.30[KE BEE 1.25
B INFBRNFEF +HA-FH PR PE(R) MEE- /BT T+ HET-hEF
WA I3H | HeEk Bk HE 2.00|E5H ¥ 2.00(B8 FEh 1.90
2RERE +HA7-hEKH +EHE-TEF
WA I3E | ek KB e wh.15 (+2.6)| AL \E%%?? 4.75 (+0.9) 43%\ KFTE w4.60 (+2.4) |6 HAR w4.56 (+3.3)|BREE E w4.32 (+2.5) fEE% =i 4.16 (+1.9)|BE/R %%sk 3.99 (+1.4) [l ZEx w3.85 (+2.8)
+HHEr R EEPE(R) B AR +HEr-+BER +HE-FEFR BB AR + B E7- KRB +HE-+BER
WH3E | SNy 92.17|%" 8" ¥¥ 9.15| K BT 8.23|&=R H= 8.12|11A  =F 7.53| & kg 7.52| Rk EHE 7.29|LE B 7.28
+HET-ETR +HAT-F&H +HET-ET MEE /BT NFBENTFEFH + B AT # R M- AMTH +HE-FhEF
ks 100mH B8 A=K 14.64
R —M A1 | 10H13H 14 +BE

w (wind assist) : IBEZ#%




